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Topic:- General Knowledge and Logical Knowledge

1) Gandhi Sagar dam is built on the river ./ i 9TR 9y T'|T:¢pf ¥ 9491 141 %I

1. Tawa / ddTl

2. Narmada / :F:TET

3. Chambal / I&d

4. Mahanadi / IIEHE“

Correct Answer :-

« Chambal / ddd

2) When is National Technology Day observed? / ?Tg']'q et IFELE TR EICIRCIG]] %?

1. 5™MSeptember / 5RIGER

2. 25™ December / 25 feTwaR
3. 11" May /11 9%

4, 31d August /3 3TRd
Correct Answer :-

e 1M May / 11T

3) When is International Women’s Day celebrated on every year? / GI?R@'U Hfgen feaw TP a4 S q1T
51GI &4

1. 8" March / 8 AT
2. 8th January / 8 [EEER]
3. 18™ April / 18 30

4. 10t February / 10 TRAR]

Correct Answer :-



« 8" March /8 A

4) Which is India’s first indigenously built Stealth Warship? / ¥a¢=T # fAfifa URd &1 ugar R St se™
o 1 %?c

1. INS Chennai / &néqu %ﬁrs‘

2. INS Viraat / WW

3. INS Vikramaditya / Grréqu fammfe
4. INS Shivalik / STSUACY fRrarferes

Correct Answer :-

« INS Shivalik / 3TSTACY Rrarfere

5) Which is the highest peak of the Western Ghats? / gf3rft gTe 1 9ad ST RRER AT A1 %?
1. Kanchenjunga / a-Tordl
2. Sandakphu / dGadp

3. Anamudi / \317‘117333[
4. Jindhagada Peak / ﬁﬁ‘ls REIECH

Correct Answer :-

» Anamudi / \’rFﬂHSOI

6) India’s first gymnast Dipa Karmakar who got qualified for Olympic belongs to which state? / 3Nefusd & m

YITGT YT B3 aTell HRd B ugel! fRraRe iut sHie 59 I 31 82
1. Tripura/ﬁ'ﬂ?[
2. Manipur / Af0TQR

3. Gujarat / T[oIRTd
4, Madhya Pradesh / H&J LA

Correct Answer :-

o Tripura/ ﬁqﬂ

7) On February 15,2017 ISRO’s PSLV C-37 successfully launched how many satellites? / 15 YA 2017 B

T & freuad! W-37 A fraq Iuws! # Iwaayds vafid fear
1. 108

2. 104



3. 106

4. 110

Correct Answer :-

e 104

8) Jal Mahotsav 2017-18 will be organized at / STeT HgIedd 2017-18 T TSI PHgI fhdT STET?
1. Neemuch / 51Hd
2. Narmada Kund / THaT s

3. Hanuwantiya Island / eaaﬁm §°fq
4. Orchha / 31&f

Correct Answer :-

» Hanuwantiya Island / E’ﬂaﬁ'q'f Ei]

9) A 5.8 Magnitude quake struck in February 2017, already in the news for natural disasters that lead to

large-scale loss of life. / 5.8 Saal YHU 4 BRas1 2017 W R UeR fan, foraet aaf uga A 8t wipfas
3mugrat & forg waRt # A 9 fora 33 9™ W a1 &1 JHar garl

1. Uttarakhand / STRIGS

2. Himachal Pradesh / %TI'I?I?T EI%’-‘QT

3. Jammu / STH]
4. Ooty/3é|

Correct Answer :-
e Uttarakhand / 3TRIIS

10) How many times has the Holkar cricket team won the Ranji Trophy? / W fphe AW A frait ar

UTSH gTOY Sitelt 82
1.6
2.7
3.4

4.2

Correct Answer :-



11) The district of Guna is divided by river / foraT RIG 1 =I'cﬁ I faurfora %I
1. Tawa / ddl

2. Sindh / Ry

3. Jamni / SITHAT

4, Tamsa / dHIT

Correct Answer :-

« Sindh /R

12) The Budget is presented to the Parliament on / Ea0: A H qeic 4 ﬁq’ o= fmaT SITar %
1. 151 April / 15 30

2. 15 April / 1 30

3. The last day of March / T & SR &

4. The last day of February / TRaR] o STRERT fad

Correct Answer :-

« The last day of February / A<l & TR fa=

13) Who is known as the ‘Iron Man of India’? / ‘HRd & &g YW & =Y A fohd o1 S1eiT 32

1. Sardar Vallabhbhai Patel / GRGR IeHHTS Ucd
2. Jawaharlal Nehru / STdTgXdlcT 3165
3. None of the above /Wﬁ@aﬂgﬁ

4. Bal Gangadhar Tilak / ST TTER IGNED

Correct Answer :-

« Sardar Vallabhbhai Patel / TREGR GeIHHTS U

14) Who is the chief minister of Andhra Pradesh? / 3T USRI & YA B 82
1. Venkaiah Naidu / 03T ATIg

2. Chandrashekar Rao / aaélw NIq

3. Chandrababu Naidu / d-dlg T1Ig
4, Kadiyam Srihari / CARRE %ﬂ%ﬁ

Correct Answer :-

 Chandrababu Naidu / I-%dlg AIg



15) Who was the captain of the Indian team that played the 2017 Women’s Cricket World Cup? / YRAN &

ot Ha i 8 g afgar fhde fay w9 2017 Qar un
1. Mithali Raj / TOTel a1

2. Harmanpreet Kaur / SXHHd BR

3. Poonam Raut / JAH I3d

4. Sushma Verma / J¥HT At

Correct Answer :-

« Mithali Raj / FTcH 15T

16) Who was elected the Chairman of FIFA’s Governance Committee? / BIBT &1 - Jffa &1 el fea
AT T Y7?

1. SH Kapadia / T8 U< S1UfSAT
2. Vitaly Mukto / fdeTefl gt

3. Miguel Maduro / ﬁ?IQE fl@
4. Mukul Mudgal / H < HITT
Correct Answer :-

» Mukul Mudgal / §Hd HaITcl

17) Who is the Union Minister for Health and Family Welfare? / STRRY 3R URGR HeuTur %Wﬂ'ﬁﬁﬁqﬁ?
1. Harsimrat Kaur Badal /mﬁ?m

2.1 P Nadda /S Ul 7IgT

3. Anant Geete / 3 1fia

4. Radha Mohan Singh /QT‘HTIhE:[ﬁi_&’

Correct Answer :-
« JP Nadda /S Ot 731

18) If CADAVERS is coded ACADEVSR, then how is IMMERSED coded? / Tf¢ CADAVERS @1 ACADEVSR | ®Ifed

a1 SIrd1 8, Y IMMERSED DY 1 Bifed fhar SRR
1. MIMESRDE
2. MIMESRED

3. MIEMSRED



4. MIEMSRDE

Correct Answer :-

e MIEMSRDE

19) How many 5 digits numbers can be formed using the digits 1,2, 2,4,2,47?/ 3l 1,2,2,4,2,4 & IR QRT

ot 5 it ot e fAfHa 8 wodt 82
1. 720
2. 360
3.120

4. 60

Correct Answer :-

e 120

20) P scored more than D. U scored as much as D. R scored less than M. D scored more than U. M scored less than

D. Who scored the lowest? / P ¥ D I 3P THIR IHMATI U A D P SRTER PR I9™TI R A M I $H TR
FAT4TI D A U F 3P THR 9111 M A D A FH THR 91T T4 HH DR fFa g9

1.U
2.R
3.P

4. M

Correct Answer :-

21) In throwing of two dice at a time, what is the probability of getting a total of 2? / a T U 1Y T o I,

P 2 HaR UT H1 o1 fora-t wilkiear 82

Correct Answer :-



22) Complete the series choosing the missing letter/s: / &I &R/ A& B gADR mﬂﬁ T PifoTg
b__bbbab__ba__b

1.b,a,a

2.3,b,a

3.3,a,b

4.a,b,b

Correct Answer :-

e a,b,b

23) What is the formation date of Madhya Pradesh? / & U B RITYAT B fafy aar %?
1. 01 August /01 3T

2. 01 November / 01 I}

3. 01 December / 01 faaTaR

4. 01 April / 01 310@

Correct Answer :-

e 01 November /01 d&Y

24) Complete the series choosing the missing number: / & ST TADHR AT Bt TRT BIFIC:
1,8,3,6,

1.8

2.5

3.4

4.7

Correct Answer :-

25) Complete the series choosing the missing number: / & ST TAHR GAT Bt GRT DI

1, 2, 6, 24, 120,

1. 720



2. 725
3. 700

4. 715

Correct Answer :-

e 720

26) Complete the series choosing the missing number: / W H&IT BT GAT B TRT HIOIC:
8, 10, 14, 18, 34,50

1. 26

2.25

3.24

4. 27

Correct Answer :-

e 26

27) Select the option that is true about the Statements and Conclusions given:
Statements:

All numbers are bumpers

Some climbers are bumpers

Conclusions:

I. Some climbers are numbers
II. All numbers are climbers

/ 39 fapreu &1 9091 I Sife T T Hu=) iR Fepuf FaR A Tl & :
DY:
g TR TR

PO FATSER TR &

fred:

. PO FATGIER TR &

1. 3t TR FATsTER §

1. only conclusion Il follows / Fad sy 1) WW%

2. only conclusion | follows / Had ey | WW%

3. neither conclusion I nor conclusion Il follows /:Tgbfﬁ'&lﬂfl GﬁTqﬁﬁWﬁ 1] WW%

4, both conclusion | and Il follows /ﬁﬁﬁﬁfl 3‘ﬁ? Il L‘:I"If SRV Hd %

Correct Answer :-

¢ neither conclusion | nor conclusion Il follows /:Té}fﬁ'ﬁh_ﬁfl GﬁT:fEﬁﬁw Il GEJ,'HTUTW%



28) Select the option that is true about the Statements and Conclusions given:
Statements:

All players are slayers

All slayers are blazers

Conclusions:

I. Some blazers are players
I1. Some blazers are slayers

/ 39 fameu &1 9041 FIoE SifP foE T Hy=) iR Fepuf F IR A T 8 :
DY:
Tt faadl suR &

Tt TR <AOR &
e

. O AR ATt §
Il. $ AR TAR 3

1. only conclusion Il follows / Had sy || &aﬂwm%

2. only conclusion | follows / Had sy | WW%

3. neither conclusion | nor conclusion Il follows /:Téafﬁmmfl ﬁ?qéﬁwﬂf 1] &@TUTW%
4, both conclusion | and Il follows /ﬁ'@o—ﬁfl G'ﬁT Il Eﬁ:ﬁ WW%

Correct Answer :-

e both conclusion | and Il follows /ﬁ'@b_ﬁfl Gﬁ? Il ?ﬁ:ﬁ &WW%

29) Select the option that is true about the Statements and Conclusions given:
Statements:

Some cooks are students

All chemists are students

Conclusions:

I. Some chemists are cooks

I1. All cooks are chemists

/ 3 fapeu 31 994 HifoTe Sife fAT U HY= IR Frepul F IR A TS @ -
DY:

T Pb O §

Tt pre o g

ﬁ'@ﬁfz

. PO PR FDH &

I 9t o FfRe &

1. only conclusion Il follows / Fad sy || &IﬂﬂTUTWT%
2. only conclusion | follows / Had sy | &aﬂwm%



3. neither conclusion | nor conclusion Il follows /'_'Tﬁﬁﬁmv_ﬁfl @Tqﬁﬁﬁﬁﬁf Il G@TUTW%
4, both conclusion | and Il follows /ﬁ'@ﬁfl GﬁT Il Eﬁ:h WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /:Télfﬁlmﬂfl aﬁwaﬁﬁwsf 1] GENTUTW%

30) Select the option that is true about the Statements and Conclusions given:
Statements:

No pigs are rigs

No figs are pigs

Conclusions:

I. No rigs are figs

II1. All rigs are figs

/ 39 faweq &1 9g SIifore Sife fow e sy siR fAsraf F IR A wdt 8
DY:

a1 W ger R §

BYS ot 3l YR & &

e

1. Y3 1T 3iefiv A8t @

. g far 3ok @

1. only conclusion Il follows / Fad sy || &@TUTWT%

2. only conclusion | follows / Had s | WW%

3. neither conclusion | nor conclusion Il follows /qaﬁ'ﬁﬂfl GﬁTqﬁc}ﬁWﬁ' 1] &WW%
4, both conclusion | and Il follows /ﬁ'ﬁb—ﬁfl B'ﬁT Il Eﬁ:ﬁ WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /'_‘félfﬁ'ﬁh_‘sfl sﬁwﬁﬁwﬁ Il GFJ,HTUTW%

31) Choose the number which is different from others in the group: / 3 H&IT &1 a9 P ol Wﬁ'
AR

51, 64, 121, 144
1. 144
2.121
3. 64

4.51

Correct Answer :-



32) The series given below contains a sequence of numbers. Identify the incorrect combination: /

T2 & 7 g §, Tl BT vH HH UG T T Tare Tgare:
10, 22, 46, 92, 190, 382

1.92

2. 46

3. 190

4. 382

Correct Answer :-

e 92

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /

912 § 1 simen A, T BT TP HH UM 1 Tord Ao ugEIg
3,9, 27, 4, 16, 64, 5, 25, 120

1. 120

2.27

3.16

4.9

Correct Answer :-

e 120

34) If SENSELESSis coded e3/ns4, then how is BLACKEN coded? | Gfé SENSELESS &Y e3Ins4d
HIfed far sirar 8, @ BLACKEN &) A HifSd forar Sm?

1. albliclelkiini
2. albiclelkinil1
3. abcelkn

4, abcekin

Correct Answer :-

e abcekin

35) If wallis called roof, windows are called doors, ventilators are called chimneys, floors are called
ventilators and chimneys are called floors, what is the outlet for the smoke from the kitchen? / e
wall B roof B8l Idl &8, windows ®\ doors &8l STd1 8, ventilators B chimneys %8l SITdl §, floors &1
ventilators g1 STdl 8 YT chimneys ®\ floors g1 WTdT 8, df THIS A fAepen ara YU &1 fFrfu gr | 32



1. Ventilators
2. Floors
3. Chimneys

4. Windows

Correct Answer :-

e Floors

36) ‘Wimbledon Trophy’ is awarded to / fqrgesq ?I‘Tbof' ¥ 370 JwIfa forar srar g
1. Countries / GRIf

2. Individuals / TRl

3. Zones / S

4. States / T

Correct Answer :-

« Individuals / fFTal

37) In a certain code language, erp tan sib means price is rising,gov rod tan means control rising
temper, rod sib ley means cannot control price. Which is the word for temperin that code language?

/UH T HIS HTHT H, erp tan sib &1 3 of price is rising; gov rod tan o1 3 + control rising temperdYl
rod .%s'ib ley @1 31d cannot control price BYdT 8| 39 IS HTUT H temper F foIE {5 Teg &1 sxATa fHam
T 8?2

1. tan
2. rod
3. gov

4, sib

Correct Answer :-

* gov

38) If INSTITUTION is coded NOITUTITSNI, then how is PROCEDURE coded? / fé INSTITUTION
%I NOITUTITSNI ¥ ®ifSd fooar Sirar g, @t PROCEDURE &) &3 &ifgd forar SIram?

1. ERVDECORP
2. ERUDEDORP
3. ERUDECORP

4. ESUDECORP



Correct Answer :-

« ERUDECORP

39) Find the odd one out: / Th fauw Ad Hﬂﬁm:
25, 36, 49, 121, 169

1. 169

2.121

3.49

4. 36

Correct Answer :-

« 36

40) Mahakal is one of the _____ Jyotirlingas in India. / HgIPId HRd & - Safafefm A 4 Udh %I
1. 10

2. 14

3. 11

4. 12

Correct Answer :-

e 12

Topic:- Mental Ability and Mental Aptitude

1
) If the following two squares shown below overlap, which one of the following options

is formed? | afeg fF= gF @91 Afdeaiad g &, o & & & &9 91 'F AFeT aadr &7




m

o]
o0

2.
g
B =i
0[0 e

3.

Qg
(1] ®
@80

4,

Correct Answer :-

2) Tx+4y .

If x and y are real numbers (), calculate the value of T giventhat x: 2= 3 :

4x—2y
= Tx+4y - .
2. | afE x 3R y awdfas GEm (20) & ar f 1} & A & UNieaa T, 75 T £ &
4x—2y

x:2y=3:2
1.2
2.52
3.32
4.3

Correct Answer :-

e 5/2



In the sequence shown below, which figure comes next? / A &3 7= &H #, TRl
T HieT T 3mEf?

In the sequen ich figure comes next? / @ fe&r 3 & #H, Helr

HIH HIJ\ \HH H\H



.
1

2.

3,

4,

Correct Answer :-

5) Sum of the areas of two squares is 25 sq cm. The difference between the bases of the squares is 1 cm. What is
the area of the bigger square? /Eﬁa‘ﬁa? WWW 25 aﬂ'ﬁﬁ%l T & MYRY P I 1 A &7 3R
31 93 T F1 ewa w2

1.4sqcm/45|""f@1ﬂ
2. 16 sq cm / 16 9 9t
3.25 sq cm /25 9 At
4.9sqcm/93"f@7ﬂ

Correct Answer :-

. 16sqcm/165|7f@1ﬁ

6) The price of an item has changed from an original price of $40 to a current price of $50. What is the percent

change%/waﬁmqm$40$mﬁ$q§qﬁ$so%aﬁqmqmﬁuhaﬁaaw%l gfead= ufe=ra

1.30%



2.25%
3.28%

4. 50 %

Correct Answer :-
e 25%

7) A man buys 3 dozen oranges for Rs. 36. He sells 20% of them for a loss of 5%. At what profit percentage
should he sell the remaining oranges in order to get an overall profit of 10%? / Th Y=Y 36 UL A 3 Toi
GtedT 81 dt 379 H 20% B 5% B g1 & 99 gal 3| frd env yfora w39 A9 Ja 99 a1 fored
5 10% &1 Iqof a1 uTed g1 9F |

1. 10%
2.20.25%
3. 13.75%

4. 15%

Correct Answer :-

e 13.75%

8) m and n are the roots of equation x> — 3x + 1 = 0. What is the value of 1/m + 1/n? | FHIPIUI K2 - 3x+1=0
m 3% n A &1 1/m + 1/n BT A T 82

1.2
2.1
3.0

4.3

Correct Answer :-

9) A is older than B by 4 years. If the difference of the square of the ages of A and B is equal to 80. Then Find the
sum of the ages of A and B./ A, B 4 9§ 98T 21 Ufe A 3N B B MY & T HT 3R 80 P RTER A 3R B
DY 3T BT AN JTd B |

1. 21
2.24
3. 18

4. 20



Correct Answer :-
e 20

10) A reduction of 20 % in the price of sugar enables a purchaser to obtain 2.5 kg more for Rs. 160. Find the

original price per kg of sugar. /iﬂ'—ﬁ%qmﬁzo% aﬂmﬁwﬁaﬁ 160 ¥ ¥ 2.5 {53 it A+ ure
PR BT AR <t 3 | - o1 ufa oo areafas gea gra o9

1.Rs. 15 / 15 30
2.Rs. 18 / 18 ¥W
3.Rs. 16 /16 30
4.Rs. 12 /12300

Correct Answer :-

« Rs. 16 /16 300

11) Jaisim purchased 60 shares of XYZ Company for Rs. 4,000 and later bought 40 more at Rs. 3,600. At what
price should he purchase an additional 50 shares so that the average cost of the shares is Rs. 80 each? . / STaf|

AXYZ HUH & 60 AT 4,000 U T T 3R a1 A 3,600 U F 40 AR 3R @ | frg gog w37
Sfaf¥e 50 AR W Tfge "R fF Tl JuR FT1 3NEa gea 80 FUA B2

1. Rs. 5,200 / 5,200 3T
2. Rs. 4,050 / 4,050 ST
3. Rs. 4,400 / 4,400 ST

4. Rs. 3,400 / 3,400 SUY

Correct Answer :-
e Rs. 4,400/ 4,400 39T

12) A'ssalary is 60% of B's salary and B's salary is 75% of C's salary. What % of C's salary is A's salary? / A

BT d- B F dd9 BT 60% 8 3R B BT AdT C & ad9 BT 75% 8 | C & Aa- BT fhaAT1 % A HT a4 82
1.35%
2. 50%
3. 45%

4. 40%

Correct Answer :-

e 45%



13) If three men or four women can reap a field in 43 days, then, how many days will it take for seven men and

five women to complete the given task?/uﬁeﬁqgwmaﬂw%mw@aﬁmﬁ% ﬁ‘l’ﬁ"ﬂﬁ'%?ﬁ'
1d =l 3R uiw ufgensit o srf quf v & fan fom @

1. 10 days / 10 f&T

2. 12 days / 12 f&A
3. 17 days / 17 f&A

4. 28 days /28 fad

Correct Answer :-
e« 12days/ 128

14) Sachin is younger than Rahul by 7 years. If the ratio of their ages is 7:9, find the age of Sachin. / LICE] Mgd

¥ 7 99 A Bler 81 afe IS 3R BT SUTd 7:9 B o TR B 3Ry 719 B
1. 12.5 years / 12.5 d§
2.23.5 years / 23.5 T
3. 14.5 years / 14.5 9

4. 24.5 years / 24.5 Gl

Correct Answer :-
e 24.5 years/24.5 Gl

15) If a sum of Rs. 21565 is divided in three parts in the ratio of 4 : 6 : 9, then the smallest part will be: / ?T%

21565 Y BT ART B S U | 4 : 6 : 9 F 3JuTa | fauTfora fvar wiTg, o 9 aYad YRT §RMm:
1. Rs. 5676 / 5676 304

2. Rs. 4540 / 4540 3T

3. Rs. 10215/ 10215 30

4. Rs. 6810/ 6810 STA

Correct Answer :-
« Rs. 4540 / 4540 ST

16) Two trains staring from the same place run at the rate of 50 kmph and 55 kmph respectively. What time will
they take to be 85 km apart, if they run in the same direction? / ¥ Uh BRI A 3RY '@ﬁ?ﬁ % 3R HHK: 50
it ufa wer ofiv 55 fadt ufar ve ur gardt 31 afe at wur oz & 9a 38 § o 85 feft gr v & forg
a1 awa e

1. 15hrs /15 9¢

2. 16 hrs / 16 9¢



3. 17 hrs/ 17 9¢

4. 18 hrs / 18 ©¢

Correct Answer :-

. 17hrs/175i%

17) A is thrice as good a workman as B and together, they finish a work in 18 days. In how many days will B

alone finish the samework?/A,Bﬁ?ﬁquméﬁﬁ?wqiia:ﬁ@ﬁﬁ 1sf%=rﬁqpfao‘{?r
g1 fraq e A B srdbar 3 wrd &t ol S

1. 60 days / 60 f&1
2.72 days / 72 f&A
3. 66 days / 66 f&

4.70 days / 70 f&=

Correct Answer :-

e 72days/ 728

18) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

R & S e #, srerR) 3R wwmai w1 v wu fAifed §1 Tad sae ugae:
i.rppyt87771typpr

ii.rppyt87771tpppr

iil.rppyt87771typpr

iv.rppyt87771typpr

1. il

19) The average age of the Rose's family consisting of her grandfather, parents and brother dropped from 46
significantly on the demise of the grandfather at the ripe of age of 82. It went further down to 35 next year when

Rose's brother married Cilia. What would be the age of Cilia? / W%Wﬁmm, 'FI'IT'IT-ﬁ?ITGHT
TS Tftrferd €, 39 uRaR @ oNd Mg 39F 82 aifa Srerell & Jog 11 UR UTHT 46 81 ATe 81 AT
ﬁu%aaﬁ?ﬂﬁaﬁ?ms‘rwamssﬁﬁﬁﬂ,ﬁﬁﬁ%%mﬁaﬁﬁrﬁmﬁg&m Raferar ot amyg
Gl ?



1.21
2.24
3.23

4.22

Correct Answer :-
e 23

20) The average age of a five-member family is 18 years. If the age of the grandfather is included, the average
increases by 12 years. What is the age of the grandfather? / T Uid AG& e URaR & siad 3 18 a’ﬁf%l
gfe rerel @ 3y &Y e w5 foram wg <t 3id 12 af 9@ 93 TaT 81 Srereh @1 3y fbast 82

1. 90 years / 90 CL
2.75 years / 75 I
3. 80 years / 80 CL

4. 85 years / 85 Gl

Correct Answer :-
e 90 years /90 CL

21) The average age of a class of 15 students is 20. If the age of the teacher is included and one student of age 20
is excluded, then the average of the class increases by 1. Find the age of the teacher. / 15 Bl Bt Uh DET Cd|
3fTd 3mg 20 81 92 R Ft 3y WY zfira F oe iR T 20 affa o= H1 ger foar s o wen Ft
ST 3T 1 | 9 ATt 3 | Rierd a1 3y g1d B

1.30 yrs/ 30 9
2.37 yrs /37 @Y
3.35yrs/35 CL

4. 40 yrs / 40 I8

Correct Answer :-
e 35yrs/35 a4

22) The average weight of 75 students of Section A is 60kg; and the average weight of 25 students of Section B,
belonging to the same class, is 52kg. Find the average approximate weight of all the 100 students of the class /

AT A P 75 BT BT 3T ToI 60 fHUT ; 3R I F&T P AR B & 25 DA D1 3 Hd a9 52 BT 21
P&l P I 100 BN BT TTHT AT T J1d B

1. 58

2.52



3. 56

4. 60

Correct Answer :-

e 58

23) A bag contains fifty, twenty and ten-rupee notes in the ratio of 2 : 3 : 5. If the total amount in the bag is Rs.
4,200, how many 20-rupee notes are there? / Th YAH2:3:5% SIHUTd i U, EicI0g o I & e %'I
ofe ¥a o T Wi 4,200 YA 3 A ITH 20 T & fHaq Ale 32

1. 40
2. 200
3.25

4. 60

Correct Answer :-

24) A bus takes a different route when going and returning from station A to D. It goes from station A to B in 4
hours and then from B to C in 2 hours. It stops for a break of 1 hour at C before going to D which takes 7 hours.
On the return journey the bus starts from D, travels for 5 hours and stops for 2 hours at F. It then reaches E in 2
hour before moving to B. It takes 3 hours to reach B. Finally the bus goes from B to A in 4 hours. Which route is

longer and by how many hours?/WAﬁDﬂﬁaﬁ?Gﬂ%WWWﬁ-ﬁmaﬁ%IH€4ﬁ%ﬁWA
YBETd g MR P29 A B A ¢ ST 81 D O A Ugq, oA 7 9 WA &, dY c UR 1 9 & 3iavTal & forg
FHA g I AT H TH D A URH B 8, 5 4 b fAu gadi @ SR FUR 2 6 & fau =l 21 91 fhe B
PR T A UA 2 ¢ F £ Ugaet 31 B Uga A 3 3 62 T § | AMTORBR I B A A 4 6 T el B
P4 T AT da1 8 3R fam gaf A2

1. Return journey by 4 hours / 4 Hel 9 arod! g
2. Return journey by 2 hours / 2 del I aIdt amn
3. Going journey by 1 hour/ 1 He I S arelt g

4. Going journey by 3 hours / 3 H¢ I S arelt I

Correct Answer :-

» Return journey by 2 hours / 2 Hel I aro™! g

25) Kajal faces towards north. Turning to her right, he walks 25 meters. She then turns to her left and walks
another 30 meters. Next, she moves 25 meters to her right. She then turns to her right again and walks 55 meters.
Finally, she turns to the right and walks 40 meters. In which direction is she now facing from her starting point? /

PToTd PTG IR DI 3R 81 3T ¢ YSd g, 8 25 Hew Tadi 31 at fb a1¢ et 3 iR 3mit 30 Wiex
T g1 fpR aY 3= gre | 25 Wiew gt 31 91 fbR 3uA 3¢ el € 3R 55 Hiew et 31 snfRer at
31T gl 7 3N 40 Hiex gad 8 1 yRf® fag @ 3@ ST Igu i Ot fezm a 32



1. North-West / STR-Uf&H
2. South-West / GI&UT-UfgH
3. South / GI&UT

4. South-East / EF&IUTJI&

Correct Answer :-

« South-East / GI&f01 -Uj

26) If 26 kg rice costs Rs. 299, how much would 22 kg cost? / afe 26 fuT arae &1 T 299 I % ar22 fem
&1 anTd fea- gifie

1. Rs. 223 /223 308
2. Rs. 253 /253 30
3. Rs. 243 /243 W

4. Rs. 247 / 247 308

Correct Answer :-

« Rs.253/253 300

27) If 6 unskilled workers make 8 chairs in 4 days, then how many additional skilled workers should be hired,
who are 1.5 times as efficient as unskilled workers, to make 24 chairs in 6 days? / 'Q'% 6 AP W, 4 ﬁ*ﬁ
# 8 PRI o1 fFmfor wwd 8, 91 fovam sifafvaa pzra sl @1 Fgea s aifde ot i sipza
HHARAT A 1.5 TAT H=14 7l fora % 6 fa o 24 R &1 fHmfor gt anee

1.4
2.2
3.6

4.3

Correct Answer :-

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / 7%

30 T IR yal # ¥ e 33 A yd & Sl g9 S 91 UP 81 22

Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia



(i) Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(ii) Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(iii) Kingford Smith
424-458 Hoxton Park Road,

2171 Liverpool, Australia

(iv) Kingford Smith
424-458 Hoston Park Road,
2171 Liverpool, Australia

1. it

2.1v

3.1

4.1

Correct Answer :-

e iv

29) An employee receives the following incentives on his job for 3 months as Rs. 3,000, Rs. 3,500
and Rs. 2,870. What average incentives does he need on the last two months in order to maintain a
Rs. 3,500 average? / U&% HHAR! &I U+ &1 W FufifEd wicare 3 a8l & fore ur gu: 3,000 343,
3,500 ¥U, 3T 2,870 TUA| 3,500 U FHT 3RId I9TC ¥@ & g st ) wdi=i & 3 «m oiwra
WIATe S TIRIHT 82

1. Rs. 4,065 / 4,065 SUY
2. Rs. 4,605 / 4,065 3T
3. Rs. 3,500 / 3,500 SUY

4. Rs. 3,000/ 3, 000 3T

Correct Answer :-



¢ Rs. 4,065 /4,065 00

30) Find the average. / 3Na e
37,17, 25,37,49 & 63

1. 39

2.41

3.36

4. 38

Correct Answer :-

» 38

Topic:- Science and Simple Arithmetic

Y If 73 x 23x+3x )x~12 = | then the value of xis:/ TTG 253 x 2= +3x 2x-R =1 o x & AW oo
LI

1.3

2.4

3.2

4.1

Correct Answer :-

2)
In the given figure, AB = AC, CH =CB, HK | BC and #DAC = 140°, then « HCK = /) Ruaw 3 &, AB=AC,
CH=CB HK || BC ¥R /DAC=140°, d@ 2 HCK = )

1. 45



o

2.40

o

3.35

o

4. 30

Correct Answer :-

o

e 40

3) If the cost price is 96% of the selling price, then what is the profit percentage? / afe amTa HeY, ICER Y
BT 96% &, Al AT Fier=Ta a1 g2

3.5%

4. 4%

Correct Answer :-

4) If the sum of two numbers is 8 and difference of their squares is 16, then the numbers are: / 'Clﬁ 3.1 WTGﬁ

BT AT 8 TUT IAP AT BT 3iaR 16 8, a1 T&IY F §:
1.1and7/1 3R 7
2.2and 6/2 3R 6
3.4and 6/4 3R 6

4.5and3 /53R 3

Correct Answer :-
e 5and3/53R3

5) If each of the dimensions of a rectangle is increased by 100%, then how much is the area increased by? /Tlﬁ'

TS I Dt YD fTAT & 100% B 93 81 91, <t &awa A fora- i g2
1. 100%
2. 200%

3.300%



4. 400%

Correct Answer :-

e 300%

6) The ratio of the volume of two cylinders of same height and whose radii in the ratio 1 : 4 is: / HHIH G;_ﬂl's: ara

3 3T & SmaaHl o1 3rquTd A 8 R g 1: 4 & squa A 8

Correct Answer :-

e 1:16

7) The largest perfect square which is exactly divisible by 4, 5, 6, 15 and 18 is: / 4, 5, 6, 15 <T 18 J Q:Uf U

favfora g9 arar Tad we1 gl avf A= 8:
1. 600
2. 300
3. 256

4. 900

Correct Answer :-
*« 900

8) The present population of a village is 60500 and it increases at the rate of 10% per annum. What was the

population 2 years ago?/@ﬂﬂﬂﬁﬂ?ﬁ'ﬁmwwo%&ﬁ?gﬂﬁuﬁﬁ 10% ?ﬁg@@?ﬁ%l 2 q¢
Ugd 39 id &1 Sie feaet a2

1. 50000
2. 59000
3. 60100
4. 48000

Correct Answer :-

« 50000



9) Amit covers two-third of a certain distance at 4 km/hr and the remaining at 5 km/hr. If he takes 42 minutes in

all, what is the distance covered in km? / 3fHd Wﬁ'ﬂﬁﬁ'\ﬁﬁﬁ-ﬁ?ﬁ YT 4 forel. e Y 7ifed wR g et
mﬁ%@gﬁﬁ./ﬁaﬁnﬁwwm%l TR pAgH W HFA AT 42 e @ &, AT oo
GRICD P

1.2 km/ 2 o,
2. 4km /4 foouit
3.3 km /3 foodil
4.5 km/ 5 fopddft

Correct Answer :-

e 3km/3 fHHT

10) In a circle with centre O, AB and CD are two diameters perpendicular to each other. The length of chord AC

is: / O &% dTel T gl A, AB 3R CD G T goX & widad oI o | Sial AC $1 g f gt

1
ZAB

4. 2AB
Correct Answer :-
S AE
11) In any pie chart, the sum of the central angles is: / ot 13|'|§ qre ﬁ, =1 DI BT AR e i %:
1.360°
2.90°
3.270°

4.180

Correct Answer :-

12) If ABCD is a parallelogram with AB = 8.3 cm and perimeter = 26 cm, then BC= ./ af& ABCD U

TgYe 8 oIt Yo AB = 8.3 T, 3R 3T uRfer = 26 A, A BC= g



1.42cm/ 4.2 9.
2.47cm /4.7 @Iﬂ
3.4 cm/4@ﬁf.

4.3.8cm/3.8 I,

Correct Answer :-

. 47cm/4.79H.

13) Which of the following is irregular or hexagonal? / =1 o & 7 eifeafia o vewivfa gtan %?
1. Neuron / dA®IRIHT

2. Squamous epithelium / Qb IJUBAT

3. Connective tissue / TSN SHAd

4. Bone cell / G@Jm

Correct Answer :-

o Squamous epithelium / Qb IUBAT

14) Which of the aqueous solutions will exhibit Tyndall effect? / g1 wieirg faerat ® 9 o fevsta yya
weRfa sy

1. Sodium carbonate / NSTH FHEHE
2. Copper sulphate / PR The

3. Milk / Y

4. Potassium permanganate / TRy AT

Correct Answer :-
o« Milk/g¥

15) The movement of shoot towards light is: / WPTRT B3R E'R:]g CARIIG] ﬁ?‘ﬁ %:

1. Chemotropism / @Q‘Iﬂa?h
2. Hydrotropism / W
3. Phototropism / Wﬂﬂaﬁq
4. Geotropism / ‘I\W’Iﬂﬂ?ﬁ

Correct Answer :-

» Phototropism / Wﬂﬂﬂ?ﬁ



16) The metal rods dipped in liquids to which batteries are attached in a circuit are called WA 4| E@'

g A g & &, R el B uRuy A dafa frarsirar?,  wgarar gl
1. electrolytes / ﬁg&ﬁ HUYRA
2. electrolysis / ﬁg&ﬁ SfUycH

3. electrode / 3@’0@3
4. insulators / fagad Aud

Correct Answer :-

« electrode / 3@5@3

17) A plant cell lacks chloroplast. Which of the following functions will be affected? / ThUTGU PIRET A

gitdaa® &1 3rvTa glaT 21 599 A § ¥ &1 I1 o1 uvifad g
1. Reproduction / TS

2. Respiration / RdH

3. Food production / IS &1 SdTG

4. Storage / YR

Correct Answer :-

« Food production / YIS &1 3G

18) Symbols and names of different isotopes of hydrogen are given. Indicate the wrong pair. / ST§S oI & fafHa

RIS & g 941 9 3T 1T 7| 1o Siig) & Sdbd P |
1. 13H ; Tritium / 13H ; gléﬁ’q'q

2. 12H ; Deuterium / 12H ; Wﬂﬁqﬂ

3. 12D ; Deuterium / 12D ;_é'ﬂ:aﬁm:[

4, 11H ; Protium / llH ;m

Correct Answer :-

. 12D ; Deuterium / 12D ;@ﬁmﬂ

19) The fuel used in engine of jet aeroplanes is: / S 331_5: \_rlg'l\_rﬁ s Ugad @ﬁ' CIGI é‘iﬁ %:
1. Diesel / Siol@
2. Kerosene / BRIRM



3. CNG / Tgoit
4. Petrol / ﬁ'@a

Correct Answer :-

« Kerosene / BRI

20) Temporary magnets are made of: / Wﬂ% JHh s ga e
1. Stainless steel / TCC WA

2. Soft iron / H@Fﬁ?{

3. Steel / Wid

4. Copper / didl

Correct Answer :-

» Soft iron/ {g NI

21) At the top of high mountains, atmospheric pressure .13 m & Qﬂ'ﬁftﬁ, HTEFIT":@H qId
|

1. increases / dgdl %
2. remains constant / TR Igdl %
3. decreases then increases / Ycdl % e dedl %

4, decreases / ¥cdl %

Correct Answer :-

e decreases / Ycdl %

22) A virtual image is always ./ 3T yRFt wfafds '\‘I%H . Eﬁ?“ % I
1. diminished / BId

2. inverted / AfAITHd

3. magnified / TRAfHT

4. erect / SredRiSf

Correct Answer :-

e erect/ E?ﬁcffﬂ'ﬁﬁ

23) The inner lining of the stomach is protected by which one of the following from the action of hydrochloric

acid? / SITHTRIT D SATARP AR (@3 =1 7 & f5ra v & g1 gIsSIaaiie o ot sifufpar &



Wi gt 82

1. Bile / U

2. Pepsin/a'@l:f

3. Mucus / ST

4. Salivary amylase / ARGR THeS

Correct Answer :-

« Mucus / TASAT

24) Hepatitis is caused by a . / gUersfew P PRU BT |
1. bacterium / \_rﬂaTUl

2. fungus / hddh

3. virus / fauTg]
4. protozoa / IS

Correct Answer :-

. Virus/ﬁ"sﬂ'ﬁ

25) According to the base pairing rule, Adenine always pairs with: / 3TUR WU 99 & AR

ufeATgH Fasm 9 T g &
1. Guanine /WHFﬁ:[
2. Cytosine / ATSCIRH

3. Uracil /?@ﬁlﬁ
4. Thymine / 4GHIA

Correct Answer :-

« Thymine / 4gHH

26) The physiological process that helps in the perpetuation/continuation of the species is: /dg

A fthar ol yerfaal & qadiexr saftads § Aeg Hed :
1. Circulation / UR=ITA

2. Reproduction / TSI

3. Digestion / UG

4. Respiration / 43I

Correct Answer :-



e Reproduction / USIH—

27) Protein synthesis takes place in ./ N Jzayor - o grar %I
1. Nucleus / EIREY

2. Ribosome / TSaI A

3. Mitochondria / ‘Fﬂ%a?b"ﬁ%m

4. Golgi apparatus / Tesil TN

Correct Answer :-

« Ribosome / II3aIH

28) (12x3y3 + 3x2y2) * (-15x2y3 - 60x3y4) =

1.1
2.-1

3. 4xy

-1

fxy

Correct Answer :-

29) 1f 157464 = 23 X 39, then the cube root of 157464 is: / ¢ 157464 = 23 X 39, At 157464 BT UTHA

e gr:

2% 3%
1.

2.2><3'5

¥ El
3, $%E0

30) The number of digits in the number 210 % 58 js; ; H@IT 210 X 58 § 3} 1 Jw=T fr ghft:

1. 10



2. 11

3.9

4.8

Correct Answer :-



